< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

x1073

Wl

3

1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

.....

...............

...............

3
PRI PR P O O 1 P O Y

1

w

1 2 3

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

100

- 44

.............

.........

...................

[V RN AR R L

2 3
TP n (PCA to beamline)

0o 1 2 3
TP n (PCA to beamline)

= 100

...............

L\T

1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


